2.2 Factoriser une expression

2.2.1 Factoriser:
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2.2.2 Factoriser :
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f) (a=0)°-1 = (a-b ) (e-5-1)
g 32-3 = 3= 3(a-Ulat)
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p) 9z* + 16y + 2422y - (3'1"“*'3)&
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2.2.3 Factoriser :

a) 12 —125 d) 2%+ 8ab® g) 1+ 9a + 27a* + 2743
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2.2.4 Factoriser :

a) 2+ 5z +6 e) 927+ 6x + 1 i) 62% +5z+1 m) 40z” + 3z — 28
b) %+ 5z +4 f) 422 +5z2+1 j) ¥ —22x + 85 n) a®>+9a—10
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2.2.5 Factoriser :

a) z* — 1322 + 36 e) 6428 — 912 4 27

b) ab+ 19a® — 216 f) 6z + 722 -3
c) x® — 257z + 256 g) 162® — 6412 + 625

7z — 6122 — 18 h) 81z*+8022—1
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2.2.6 Factoriser : MUt e dn grouptns o |
a) ar +br + ay + by h) 10zz — 10z — 2%+«
b) a+ b+ ax + bx + ay + by i) a® —2ab+b* -1
c) ax — br —ay + by j) 4z? +2x — 9y? — 3y
d) ax — 4z + 4y —ay k) 1+z+22+2%+at+2°
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= 227 S aprés avoir groupé.
a) x—2y—z*+ 2y + (z — 2y)?

_ b) 222+ 3x—10zy — 15y
c) 3x3 —20y%2 — 52+ 12x%2

— d) 8z + 2z +3y)(x —2y) — 622+ 12y —9ay + (2z + 3y)?
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_ h) 3ztyz + atyd + 323ytz — 32252 — 2%yP

1) x3m+2 _ 2xm+2 m 2m, m+3

y +x y _ 2y2m+3

avec m € N*
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